Exam Code : Ad d a E q =Z|J Date :26-05-2019 Ver-

sion :54 Exam Time :16:00-17:30

Question No. 1

Simplify: (VB -2v8)

A) B)
18+2:12 18-212

C) D)
18+122 18-122

e e [JE-QJET]:

A) B)
18+2+12 18-2412
C) D)
18+12+2 18-1242
Answer Key : D Your Response : Not Answered

Question No. 2

Which agent produces a local or general loss of sensation?
A)Anaesthetic B)Oxygen
C)Glucose D)Blood

FieT W APF T AT THT HASAT- IcTesT HOaT 87

A)faad® (Anaesthetic) B) iTereiistet
C)7efehrst D)erd
Answer Key : A Your Response : A (Correct)

Question No. 3

SSC Aktehrding 1 Mendeleev's periodic law, the elements were arranged in the periodic tgblq gﬂhegqlg #ddaad 7

A)Increasing atomic masses B)Decreasing atomic masses


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

C)Decreasing atomic number D)Increasing atomic number

#selT & et T & I[ER, dcat F sEd wRolr F & YR W safeyd B am@r am
A)FGd TRATY] GeTHATaA B)ged WA gedHATEA

C)ued WRAT] $aAlh D)sed YA héTh

Answer Key : A Your Response : D (Wrong)

Question No. 4

In the given figure, the circle represents educated, rectangle
represents unemployed, and square represents villagers. Which region
represents villagers and educated but not an unemployed?

6

A) B)

]

C) D)

A) 2 B)
3
C) D)
1
4
Answer Key : D Your Response : C (Wrong)

Question No. 5

Lactose is composed of and glucose.
A)Fructose B)Sucrose

SSC Aderipiase D)Maltose Engineers Addaa47
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dFer 3R Tof@ier & @@ e B
A)heFersT
C)dreraerst

Answer Key : C

What is the LCM of 6(xy - y), 8 ('y - xy)?
A)24 xy (2 - 1)
C)24 (1)

B)gshlst
D)#ATeerst

Your Response : D (Wrong)

Question No. 6

B)(x®-1) xy
D)24 xy

6(xy - y), 8 (Xy - xy) FT FHAA. (LCM) 7T RSl

A)24 xy (x3 - 1)
C)24 (x® -1)
Answer Key : A

B)(x® - 1) xy
D)24 xy

Your Response : A (Correct)

Question No. 7

Find the smallest three-digit number that is exactly divisible by 12, 15 and 24.

A)360
C)180

B)120
D)240

A 3w fr 37 A W A FEw AT A, I 12, 15 AR 24 F oI RAIST A

A)360
C)180
Answer Key : B

Simplify: cos(30° - A) - cos(30° + A)
A)cos A
C)sin A

T HIFIT : cos(30° - A) - cos(30° + A)
A)cos A

C)sin A

Answer Key : C

Sound travels in a medium as a-
A)Straight line

B)120
D)240

Your Response : B (Correct)

Question No. 8

B)(1/2)sinA
D)2sinA

B)(1/2)sinA
D)2sinA

Your Response : Not Answered

Question No. 9

B)Series of compressions and rarefactions

C)Beam D)Particle

eafer AR st Jeer & ¥ ¥ & FaRa e ¥

Ay @ B)@disst va faeret i s@er
C)fagor D)aor

Answer Key : B

Your Response : B (Correct)

Question No. 10

The reaction of sodium sulphate and barium chloride solution is an example of-

SSC ARy deplacement reaction

C)Single displacement reaction

B)Endothermic reaction

Engineers Addaa47

D)Exothermic reaction
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AT Feohe 3R aRIT FiREs o v AfFfRar FT UFH 3TEI0T B

A)cfafaeae sfafear B) FsATeNsY rfAfehar
C)uesral faeums sfafeHar D)FsaTardr 3ifRfsar
Answer Key : A Your Response : A (Correct)

Question No. 11
Who was the Governor General of India during the Sepoy Mutiny?
A)Lord Canning B)William Bentinck
C)Robert Clive D)Warren Hastings

RAIEr BT & ST SRT 7 TaeR STeRe FisT dA1?

A)TTS Sfear B)faferae dfew
C)IaC FolTsa D)an gfeced
Answer Key : A Your Response : A (Correct)

Question No. 12
A trader makes a profit by selling goods at a profit of 20%. He also uses weights that are 20% less. What is
his actual gain per cent?
A)50% B)25%
C)60% D)40%

TS S 20% & T 9N HIAR a9 o HAT §1 596 O & ag W «ict F7 39A6T F=ar §, sir 20%
A & 3UF IS YA &% AT RS

A)50% B)25%
C)60% D)40%
Answer Key : A Your Response : Not Answered

Question No. 13
The Govemment of India designated 29 June every year as "Statistics Day' in the memory of-
A)Radhakamal Mukerjee B)Prasanta Chandra Mahalanobis
C)Shakuntala Devi D)Dhananjay Ramchandra Gadgil

AR THR & Wl T§ 29 ST Fr Frudhr a1g # wiftadr Raw & 70 F o fmar a

A)ITThHA TSI B)wernd dg Hglead
C)<rehcel edr D)o TG Imsfarer
Answer Key : B Your Response : Not Answered

Question No. 14

Complete the series.

7, 35, 33, 63, 60, 92, (...)
A)69 B)74
C)88 D)81

SSC Adda247 Engineers Addaa47
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Aot @ ot &

7, 35, 33, 63, 60, 92, (.)

A)69 B)74
C)88 D)81
Answer Key : C Your Response : Not Answered

Question No. 15
Captain Amarinder Singh is the present Chief Minister of-
A)Odisha B)Sikkim
C)Rajasthan D)Punjab

¥t AT Rig & adener s €1

A)3nf3er B) e
C)TSTEATA D)gsTTe
Answer Key : D Your Response : C (Wrong)

Question No. 16

Find the wrong number in the following series.

6, 12, 21, 36, 56, 81

A)56 B)36
C)21 D)12
@ d Ao & o T&r I s

6, 12, 21, 36, 56, 81

A)56 B)36
C)21 D)12
Answer Key : D Your Response : D (Correct)

Question No. 17

Express ﬁ %+ i %+ 04 % in decimal form.
a a

0.0896 0.0968

SSC Adda247 Engineers Addaa47
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C) D)

0.0888 0.0998

44 4 0.4

Rl Tl T

% @ ZAHT TEAT & T F <gad ffAv]

D D D
A) B)
0.0896 0.0968
C) D)
0.0888 0.0998
Answer Key : B Your Response : B (Correct)

Question No. 18
If the selling price of an article is Rs.240, the profit is 20%, then for how much should it be sold, if the profit is
to be 30%?
A)Rs.280 B)Rs.200
C)Rs.260 D)Rs.300

afy R g T R Fea ©.240 &, 3R amr 20% ¥ & 30% o WeT W ¥ fow W B e W) A
ST =g

A)%.280 B)%.200
C)%.260 D)%.300
Answer Key : C Your Response : Not Answered

Question No. 19

Choose the alternative that best replaces the question mark(?) in the

given figure.
6 3} 4
11| 9 !l
? | 56 | 33
A) 7 B)
o]

SSC Adda247 Engineers Addaa47
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C) D)

30 ey & 799 F, A HFT F 9F Bed (7) F WE W

s & forw wafeasw sagaa &
6 5 4
11| 9 fl
? | 56 | 33
A B)
i2
95
c D
) ) 65
85
Answer Key : C Your Response : Not Answered

Question No. 20

Divide Rs.305 in three parts, so that 3/7 of the first, 2/3 of the second and 4/5 of the third are equal. Find the

share of the third one.
A)Rs.62 B)Rs.72
C)Rs.75 D)Rs.40

¥.305 F 50 WFR die Ael F RS w5t @ ggar 7 377, gt @ 273 3R AWy 7 4/5 W g Ay 7w

R A #X

A)%.62 B)%.72

C)%.75 D)%.40

Answer Key : C Your Response : Not Answered

Question No. 21

An aqueous solution turns red litmus solution blue. Excess addition of which of the following solutions would

reverse the change?
A)Ammonium hydroxide solution B)Lime
C)Hydrochloric acid D)Baking powder

TF S RAead, a9 Pead & Raad #r Aiar & a1 § AR & § Fawr Rews s w 38

IRaEdT sy & sreem?

A) 3T gresiaass faoast B) ==

C)esaIFaliRe 31Fal D)af&ar ur3st

Answer Key : C Your Response : C (Correct)

SSC Adda247 Question No. 22 Engineers Addaa47


https://www.sscadda.com/
https://www.adda247.com/engineering-jobs/?_gl=1*1k0pe5f*_ga*YW1wLUVJYUpUVmV6MGZYVWtQMDRTcTBkX094SGlIN1I3NGJrXzBNeERUVXo0UGppVVR5SUhzaGtMM3JGTEwwSjZnMGU.

Which of the following is a folk dance popular during the harvest season in Punjab?
A)Odissi B)Kathak
C)Bhangra D)Garba

Yol ¥ 3ETSr FreA & WAT et F A Fher wr | g wafa §2

A)3nfse B) %
C)&rerar D)JRaT
Answer Key : C Your Response : D (Wrong)

Question No. 23
A person travels from P to Q at a speed of 50 km/h for 30 minutes. He then increases his speed to 60 km/h
and reaches his destination R in 20 minutes. What is his average speed for the whole journey?
A)70 km/h B)55 km/h
C)65 km/h D)54 km/h

ws sqfder 50 Rl / der #r arer F 30 e F P @ Q @& fr AEr v ¢ AR @ 39w 9O :r agrw 60
et / wer Far § AR 20 Aee #F A9 IaeT R OF W S &1 G A6 & SR 3w 3l aer A

ffom

A)70 fReiveer B)55 farali/eer

C)65 forat/aer D)54 ferati/aer

Answer Key : D Your Response : D (Correct)

Question No. 24
Which number will best complete the relationship given below?

120:168::288:?
A)360 B)362
C)359 D)358

FleT A Fewr A B e &6 #F @@ a@F @ qor weie

120 : 168 :: 288 : ?

A)360 B)362
C)359 D)358
Answer Key : A Your Response : A (Correct)

Question No. 25

Which state lies to the east of Jharkhand?

A)Odisha B)Chhattisgarh
C)West Bengal D)Bihar
SSC Adda247 Engineers Addaa47
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A)3nf3em B)&cdiade
C)uRas el D)f¥erR

Answer Key : C Your Response : C (Correct)

Question No. 26

What does the Ashoka's wheel in the Indian National Flag represent?
A)Wheel of peace B)Wheel of prosperity
C)Wheel of the law of dharma D)Wheel of authority

AR T tas ¥ e °aF T ST &7

A)enifa &1 T B)#@efg & =sh
C)ud & e &1 7% D)3fOR &1 T
Answer Key : C Your Response : B (Wrong)

Question No. 27

Put the proper symbols +, -, x, + in the blank spaces to fit the equation.

(18_8)_7_15_5=0
A)+, +, - + B)+, +, x, +
C)+, X, -, + D)+, -, x, -

AR T HJfAd T F AT Rea wuEt # 3T fe +, -, x, - F: &/

(18_3)_7_15_5=0

A+, = -+ B)+, +, x, +
O+ x, - = D)+, -, X, -
Answer Key : A Your Response : Not Answered

Question No. 28

In this question, statement is given followed by three conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
F<SH<J2V>E

Conclusions:

LH<V

.LJ>E

lI.F<E

A)Only conclusion | is true B)Only conclusion Il is true

C)Only conclusion Il is true D)Only conclusions | and Il are true

SSC Adda247 Engineers Addaa47
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30 WA #, & w9 B 7w § Oed ag e et Re e §| 3@ fswd #r (o Pt ) oo o
e ¥ ¥ I ITYF 8

HYeT:
F<sH<J2V>E

sy

LH<V

LJ>E

. F<E

A)dad fTshy | FEr g B)ahad sy Il TEr B
C)aa fasay Il TEr 1 D)ahad faswy | 3R 1 TEr &1

Answer Key : B Your Response : B (Correct)

Question No. 29
A metallic sphere of radius 6 cm is melted and drawn into a wire, whose radius of cross section is 8 cm. What
is the length of the wire?
A)3.5cm B)5 cm
C)4.5cm D)4 cm

6 ¥ B a1y TF g F Y A NgAR & AR FARr S ¢, O Ry @ A s 8
AT 1 AR A war§ freedr §7

A)3.5 HEHET B)5 #éHeX
C)4.5 TaHIX D)4 Iérfrex
Answer Key : C Your Response : Not Answered

Question No. 30

Find the ODD one out from the given options.

A)LQO B)PUS

C)TYW D)ORT

R T Rt ¥ A T BT

A)LQO B)PUS

C)TYW D)ORT

Answer Key : D Your Response : D (Correct)

Question No. 31

Which of the following is the cause of ingworm?

A)Virus B)Bacteria

C)Fungus D)Liverwort

Prfafla & ¥ 9 @ g T FRT §?

A)ﬁ'GITUI B)GﬁTJITU;F

C)®epHar D)feraRac

Answer Key : C Your Response : C (Correct)

Question No. 32

SSC Adda247 Engineers Addaa47
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Complete the series.

11, 77, 38.5, 231, (...)

A)125 B)120
C)115.5 D)121.5
Aofr @ ot F¥

11, 77, 38.5, 231, (.)

A)125 B)120
C)115.5 D)121.5
Answer Key : C Your Response : Not Answered

Question No. 33
On increasing the temperature of solids, the kinetic energy of the particles-
A)First increases and then decreases B)ls constant

C)Increases D)Decreases

3T F AT 9= W, FHOit Hr 1A FAT I

A)TEer FgdT § 3R R g I § B)feeR T &
C)de o & D)ge STl &
Answer Key : C Your Response : B (Wrong)

Question No. 34

A hare spots a dog 100 m away and starts running away from it at 12 km/h. One minute later, the dog gives a
chase at 16 km/h speed. At what distance from the spot where the hare took to flight will the dog catch the

hare?
A)1100 m B)950 m
C)900 m D)1000 m

UF G 100 X gF TF Fool A G@T § AN 12 Beelr / wer Fr O ¥ 30X G ARG YE A 81 F
fRe1e o, Foar 16 Rl / wer i e F T FE YF WA § 30 T F Bk gfr W pear 39 I
FY GHF M, STH W TN F APT Y* BrAr ar?

A)1100 #r B)950 #r
C)900 #r D)1000 #r
Answer Key : A Your Response : A (Correct)

Question No. 35

When is 'World Ozone Day' observed?
A)January 15 B)April 25

SSC AdeEZFy D)September 10 Engineers Addag47
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AT e Raw Fa AT 1T &2

A)15 STeTasr B)25 3tder
C)16 fedeR D)16 fadex
Answer Key : D Your Response : D (Correct)

Question No. 36

Find the missing number in the following series.

13, 32, 24, 43, 35, (...), 46, 65

A)54 B)60
C)52 D)56
ffaf@a Joft ¥ o e A1a Ao

13, 32, 24, 43, 35, (..), 46, 65

A)54 B)60
C)52 D)56
Answer Key : A Your Response : A (Correct)

Question No. 37

What is the name of the observatory to study Satum's moon and comets by NASA 2018 campaign?
A)W.M.Keck observatory B)Pioneer 10
C)Sofia D)Aryabhata space observatory

AT 2018 AT G@RT Afr F weAr AR YAFIHT F WA WA F AT TS qUAreT F AW R §7?

A)Sseg UH sheh AUl B)uraf=ra 10
C)afrar D)3mderg 3aiReT deremel
Answer Key : C Your Response : Not Answered

Question No. 38
What causes decomposition of organic matter?
A)Bacteria B)Liverwort
C)Algae D)Virus

FRf@d & ¥ Fi wr AR qerut & quesT F1 FROT §7?

A)Sirarog B)forazas
C)arer D)fasmoy
Answer Key : A Your Response : B (Wrong)

Question No. 39
The force of atfraction between all masses in the universe, especially the attraction of the earth’s mass for
bodies near its surface is called-
A)Spring force B)Mechanical force

C)Gravitational force D)Friction force

SSC Adda247 Engineers Addaa47
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FEAS 7 T g F AT AW ar WO 7, AR ¥ F 7 fr waw F o Rufa RSt wogwh &
FANT GART H9MT S qrer ATFHIOT ae F AT FFT ST §7

A)FRHATAT Tl B)JifA& aaf
C)ecaThyuT Jof D)&a¥ur sof
Answer Key : C Your Response : C (Correct)

Question No. 40
What does the five interlinked rings in the Olympic flag represent?
A)Oceans B)Sports
C)Mountains D)Continents

3l o ¥ WER 3 9T oo 1 gl §2

A)FETERR B)@Wel
C)udad D)Hgreda
Answer Key : D Your Response : D (Correct)

Question No. 41

How many squares are there in the given figure?

A B
)21 )18
C) D)
37 32
& 71§ WP # FFaa 39 2
A B
)21 18
C) D)
37 32

SSC Adda4 ¥ Your Response : A (Correcf-ineers Addag4 7
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Question No. 42
become the first police force in the country to digitise all malkhanas, rooms for keeping seized
arms and ammunition.
A)Delhi Police B)Bengaluru Police
C)Chennai Police D)Mumbai Police

sedt gRART 3R TeT-aree @ F fow wgeT Wi A, wEt Fr RiSedwor we arr

FT ggel G o &

A)feee gfera B)darer® gfore

Cyaes v Dyas e

Answer Key : A Your Response : Not Answered

Question No. 43
India's first self-made fighter jet is-
A)LCA Tejas B)MiG-21
C)Dassault Rafale D)Dassault Mirage 2000

HRT F gel AR ST a3 RART FieT T §7?

A)LCA as & B)MiG-21
C)zdlec Ihel D)sdlee fARTST 2000
Answer Key : A Your Response : D (Wrong)

Question No. 44
Bronze is an alloy of-
A)Zinc and iron B)Copper and tin
C)Tin and zinc D)lron and mercury

war 6 Beg ¥

A)fSie AR 3R B)dar 3R fea
C)fest 3R = D)3meReT 3R &7
Answer Key : B Your Response : A (Wrong)

Question No. 45
What is reduced by a lubricant?

A)The smoothness of the surfaces B)The bright colours of the surfaces

C)The shiny nature of the surfaces D)The interlocking of the irregularities of the surfaces
TeH CaRT 1 FA Bhar Srer 87

A)Tdgl &1 Rserge B)ddgl & THdIe T

C)Hcgl T THRER ehicl D)adgl #r ’fAafAganit $r gexaifner

Answer Key : D Your Response : D (Correct)

Question No. 46
What is the valley (lowest portion) of a sound wave called?

A)Lowest B)Crest
C)Highest D)Trough
SSC Adda247 Engineers Addag47
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A faestas B)#9T(Crest)
C)3=aaH D)3Tci(Trough)
Answer Key : D Your Response : D (Correct)
Question No. 47
Which of the following does NOT increase while moving down the group of the periodic table?
A)Metallic character B)Atomic radius

C)Number of shells in an element D)Valency

e "ol F Rl wog F A I | AR F ¥ sl ar ad agar 2

A)tricaeh I[oT B)w&A] Bear
C)frdr dca # @it Fr g&ar D) STehdT
Answer Key : D Your Response : C (Wrong)

Question No. 48

What is the unit of measurement of very long distances between celestial bodies?
A)Metres B)Miles
C)Kilometres D)Light years

mm%mﬁagawwaﬁrmaﬁrm#w%?

A)AII B)#Hrer
C)fereli#Aex D)9ehTer I
Answer Key : D Your Response : D (Correct)

Question No. 49
Why does dispersion occur when white light which is a mixture of seven colours passes through a glass
prism?
A)7 colours of white light travels at different speedsB)7 colours are refracted at same speed.
through a glass prism
C)7 colours are reflected by prism D)The white light scatters the 7 colours throughout the

prism

S 4 T, S Wi @i F BT , FiT F BT & e IoRar ¢ dr sawr aREor w4t giar 8?
A)eAd THIT & 7 WT &T & USH & 3cl9T-37e9T aTaIB)7 T TAT Il T A9diad gid &l

¥ IR &
C)7 W A garT Wafdd g &1 D)edd wehrer, 7 @I &t ¥ few 7 ghiftid & g
Answer Key : A Your Response : D (Wrong)

Question No. 50

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Money plays a vital role in our lives.

Conclusions:
I. The poor can never become rich.

SSC Altlaletitigh men take part in politics. Engineers Addaa47
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C)Neither conclusion | nor Il follows

3 W A, wF FUT F ag o et Re aw §1 3w

3 ¥

FUT:
O FAR SfaeT 7 Fgcaqur AT fAsmar ¥

et

I 1T w30 3R € @1 FFa|

Il. g3 3R st TowEhfar F R o §
A)dad TSy || areded Sar gl

C)a sy | 3R 7 & Il IreleT T gl

Answer Key : C

Which of these is NOT a blood group?
A)O
C)AB

5t ¥ FleT &1 oF @ wAp A &
A)O

C)AB

Answer Key : D

D)Either conclusion | or |l follows

B)&had fsy | areled &ar 2l
D)am ar fseny | ar |l 9o R &

Your Response : Not Answered

Question No. 51

B)A
D)C

B)A
D)C

Your Response : D (Correct)

Question No. 52

If A. B and C are three points on a circle, where BC is the diameter and

AC=AB= 5,2 cm. Find the radius of the circle.

6cm

C)

b
E cm

5cm

4cm

afe A, B3R Ct& g7 W foug &7 g &, ster BC=w § 3k
AC=AB=5/2 @ g1 39 # = a9 Hifaw)
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6 BHY 58T
0) D)
5
N papsig A THT
Answer Key : B Your Response : Not Answered

Question No. 53
What is the difference between Compound Interest and Simple Interest on Rs.1000 at 10% after 4 years?
A)Rs.74 B)Rs.64.10
C)Rs.16.40 D)Rs.52

¥.1000 #r TR W 10% F T A 4 & % Wicq Tl Ao AR WYUROT AT F IR AT AfC]

A)%.74 B)%.64.10
C)%.16.40 D)%.52
Answer Key : B Your Response : Not Answered

Question No. 54
Which of the following laws states that electric current 'I' flowing through a metallic wire is directly proportional
to the potential difference V', across its ends provided its temperature remains constant?
A)Gauss' Law B)Ohm's Law
C)Newton's Law D)Pascal's Law

frfaf@a & & Fla ar fFgw 77 axfiar § & R av ® Rl a1 & aR @ ag areh Ry orr T 5w

Y & 9T ReEicR V & regsherreqar gicr 87

A)Ira T e B)3M# &1 e

C)=ge &I s D)dTEehel &l s

Answer Key : B Your Response : B (Correct)

Question No. 55
P Is facing Q. Q is to the north of P. R is placed on right side of Q. What is the direction of R with respect to

P?
A)North west B)South west
C)North east D)South east

PQRA IR FIFCL Q PASTH A INEI R, Q ¥ af 3R §1 P & wrdw R $r few w4 §7

A)3cR aftas B)cf&or gfeaH
C)3eR @ D)afaror &
Answer Key : A Your Response : C (Wrong)

Question No. 56

Find the ODD one out from the given options.
om B)Tree : Branch

A)House : Ro )
SSC Aéga@%;ne D)Table : Chair Engineers Addaa47
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R 1w Aol # ¥ I B

A)ERX : HFT B)US : Tgelr
C)#R : &l D)AS : il
Answer Key : D Your Response : A (Wrong)

Question No. 57

- 3 1
If x+1 =2, then find the value of x” +—.
X X

qﬁx—lzz,a’r xf—ln FT AT AT AT
2

X

A) B)
1 -2
C) D)
0 2
Answer Key : D Your Response : D (Correct)

Question No. 58

Which of these is a trace element?

A)Potassium B)Manganese

C)Sodium D)Magnesium

T @ P AT v GEAATIS T 87

A)urefRrge B)HdretraT

cyaifsaA D&

Answer Key : B Your Response : Not Answered

Question No. 59
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C)Rennin D)Insulin

sfds Afvew #f PR F@ F v ey e dRET @Rt B sl a1 scaes R smar 87

A)E‘I’ﬂﬁﬂ' B)HCI
C)XfaAet D)ggfereT
Answer Key : D Your Response : D (Correct)

Question No. 60

Which is the oldest hockey tournament in India?

A)Beighton Cup B)Nehru Cup

C)Ramaswamy Cup D)Durand Cup

AR T WY G gihr gevite Sl @ #7

A)ded &9 B)aig® &Y

C)THATEITHT &9 D)s{E &9

Answer Key : A Your Response : Not Answered

Question No. 61
Simplify: 0.8 + 0.08 + 0.008 + 8

A)880.8 B)8.888
C)8.808 D)8.088

W ST : 0.8 + 0.08 + 0.008 + 8

A)880.8 B)8.888
C)8.808 D)8.088
Answer Key : B Your Response : B (Correct)

Question No. 62
Which element is the first element in the periodic table?

A)Helium B)Oxygen

C)Hydrogen D)Neon

et WRofr 3 uger aca Fia ar §7

A)éforga B) 3iferefratet

C)gTssraie D)fa3ita

Answer Key : C Your Response : C (Correct)

Question No. 63

Which of these plants has multi coloured leaves?

A)Jasmine B)Hibiscus

C)Tulsi D)Croton

&t & e o 3w el ol §2

AT B)gTsfeTha

C)W D)shicsT

Answer Key : D Your Response : D (Correct)
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There are six members in a family. This year the father died and he has a son Ramesh, and a son is born to
Ramesh. The average age of the family is the same now as it was 10 years back. At what age has the father

of Ramesh died?
A)60 years B)50 years
C)64 years D)72 years

v RV ¥ o7 Fexd §1 50 aF Rar i 7y & 7% AR 37T/ v d2T W, AR W F o deT Yoy @
1 wRaR #r shed 3 3@ ot B, S 10 aF wEe O W F e fr g o g A @ &2

A)60 T¥ B)50 a¥
C)64 a§ D)72 a¥
Answer Key : A Your Response : Not Answered

Question No. 65

In the second quadrant, cos 6 varies from:

A)1/2 to -1 B)O to 1/2

C)0 to -1 D)-1 to 1

guY =i #, cos 8 # AW & &g dar &

A)1/2 T -1 B)O & 1/2

C)0 ¥ -1 D)-1 & 1

Answer Key : C Your Response : Not Answered

Question No. 66

What is the concept of spherical mirrors?

A)Reflection of light B)Radiation of light
C)Scattering of light D)Refraction of light

el gdor #r I@aURYT F=ar §7?

A)TTA T RTdcTeT B)uehrer &1 fafezor

C)JahIr &7 YehroTed D)9ehTel T 3Tqaciel

Answer Key : A Your Response : D (Wrong)

Question No. 67
Who was the first Indian male athlete to reach the final of an Olympic athletic event?
A)Michael Kindo B)Milkha Singh
C)Surjit Singh D)Ajit Pal Singh

mﬁﬁmmsﬁzﬂ?mﬁqﬁ#mwﬂmwmmm

A)FTSsher faher B)faear &g
C)geeia &g D)31eita gt &g
Answer Key : B Your Response : B (Correct)

Question No. 68

Simplify: 1.2-0.12

SSC Adda247 Engineers Addaa47
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11/90

T e 1.2-0.12

)

11/90

Answer Key : D

Complete the series.

CX, WP, UJ, SF, (...)
A)QD
C)RE

Aofr Fr qof FY

CX, WP, UJ, SF, (.)
A)QD

C)RE

Answer Key : A

9/1

D)

0

11/10

9/1

D)

11/

0

10

Your Response : Not Answered

Question No. 69

B)YT
D)OP

B)YT
D)OP

Your Response : Not Answered

Question No. 70

Which of these states was NOT divided in the year 20007

A)Madhya Pradesh B)Uttar Pradesh
C)Maharashtra D)Bihar
SSC Adda247 Engineers Addaa47
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A)HET geer B)3ca} Ucer
C)#FERTSE D)fSER

Answer Key : C Your Response : Not Answered

Question No. 71
Find the value of 6 + 2 x (1 + 2).
A)3 B)1
C)6 D)9

6 + 2 x (1 + 2) & AW 7 Al

A)3 B)1
C)6 D)9
Answer Key : D Your Response : D (Correct)

Question No. 72
IfA+B=C,D-C=AandE-B =C, then what does D + F stand for?
A)C B)J
c)Q D)E

I A+B=C,D-C=A3RE-B=C¢ arD + F & 3w &= §?

A)C B)J
c)Q D)E
Answer Key : B Your Response : Not Answered

Question No. 73
If 'PALE’ is coded as 2134, 'EARTH' is coded as 41590, how is 'PEARL' coded?
A)25430 B)25413
C)24153 D)29530

X 'PALE' T 2134 forar s 8, 'EARTH' & 41590 for@m Siram &, & 'PEARL' #¢ & forar smem?

A)25430 B)25413
C)24153 D)29530
Answer Key : C Your Response : C (Correct)

Question No. 74
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Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table facing the centre. Each one of them
likes different brands of watch—Sonata, Titan, Fastrack, Swiss, Casio, Timex, Rolex and Fossil, but not
necessarily in the same order.

P sits third to the right of the person who likes Fossil. P does not like Fastrack. T is not an immediate
neighbour of W. R sits on the immediate right of the person who likes Fastrack. Neither P nor W likes Casio or
a Titan. The person who likes Casio is not an immediate neighbour of the person who likes Fossil. The person
who likes Sonata sits second to the left of T. The person who likes Sonata is an immediate neighbour of the
both persons who like Timex and Rolex. Person who likes Rolex sits third to the right of Q. Q does not like
Casio. U is not an immediate neighbour of P. V is not an immediate neighbour of the person who likes Sonata.
Only two people sit between the person who likes Rolex and W. The persons who like Casio and the Titan are
immediate neighbours of each other.

Who among the following likes Titan?
A)S B)R
C)V D)Q

AR TFHEd # Gue § 93 AR A Re v e @ r 3w &I

35 3P, QR S, T, U, VIR W &R A9 & art 3R Faihge o 35 & 506 § w9318 o
& Rt st A 9¥g Far §, I Weren, e, vReew, Raw, HR, asdew, doew R Bk, Afve
S T8 R 3 e I @

P 39 cufdd & g8 3N W T W doT § O i @iz g §1 P A SRe¢F qis Wig "¢ &1 T, W &
A A A A ST R AaRa Fdr IR Tt TR TRt Fs as Wg I aar P IR A& P
SR AT e Az W WE WA § O AT Fr HRAY 77 W ¢, 97 390 AR § F ww F a4 dor
¢t O SR 7z Wig ¢ 95 Safea S/ Wieer 7iz Wig § 98 T & a8 3R gt ¥ W 307 31 S =3
AT 75 T THE HT &, 96 37 ol saraaal & S 91T o dor ¥ S TEAEw IR e F7E B W
N §l AT 715 TG T aTe AT Q F 18 3R Ty T | d27 §1 Q, FR/A a1z A qwg A& Far
BU P& O&F aorer Ff 7t 37 ¥1 V 30 ST & &F w1 & 718 dor & Sir Wiewrer @iz A Wig wRar B
VAT AT g A arer AT 3R W & @i Faar &) ot 38 &) O afFaat & SR 3k ages aiz
g § ¥ g & O e 7 83 ¥

AfRRAd & ¥ i eBeT w7 A gHg T &2

A)S B)R
C)V D)Q
Answer Key : D Your Response : Not Answered

Question No. 75

The negatively charged ion is known as-

A)Anode B)Cathode
C)Anion D)Cation

SSC NHUED A7pToe S ) i Siet ¥7 Engineers Addag47
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C)*®UTIs(Anion) D)&1=ITI=1(Cation)
Answer Key : C Your Response : D (Wrong)

Question No. 76
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All fruits are baskets.

2) Some baskets are jars.

Conclusions:
|. Some jars are baskets.
Il. No basket is fruit.

A)Both conclusions | and Il follow B)Only conclusion | follows

C)Only conclusion Il follows D)Neither conclusion | nor Il follows

W WA #, & FYAl F a1g Y fApd Ru v §1 39 Aswd @) Fr g S e ¥ F Faw 39y @

1) | oo, AT §l

2) & AF, IR

forepd:
. $& IR A §I

II. F& A ol 7E §)
A)XT fasehy | 3R 11 3ugERd § B)Fae Ty | 3uged ¢l
C)dae faswy Il 3uged Bl D)aT ar sy | & € Il 3ugerd gl

Answer Key : B Your Response : B (Correct)

Question No. 77
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Evaluate: ‘“@+1—F+ ”lg'l—li
W3-1] |8+

A) B)

14 24

—lf i —l:
g HfaT: fB+11 131
W3-1] |3+

A) B)

12 16
0) D)

14 24
Answer Key : C Your Response : Not Answered

Question No. 78

Which of the following fuels is NOT used in thermal power plants?
A)Fuel ol B)Natural gas
C)Uranium D)Coal

farafaf@a & & fFw $uer = IRIFT 1T Rigga wiEt # a8 B s 82

A)SHsT del B)whfash
C)aXfaza D)&IreT
Answer Key : C Your Response : B (Wrong)

Question No. 79
While executing a job, what 20 women can do in 16 days will be done by 16 men in 15 days. Find the ratio of
capacity of a man to that of a woman.
A)4:3 B)5: 6
C)3:4 D)6: 7

SSC ATRETS S 20 Ao 16 Rt % a0 wwweh &, 3 16 qout zwr 16 Rt ot o I P2 AT 7
U AT I &HAAT FT AT AT Rl
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A4 ;3 B)5 : 6
C)3 : 4 D)6 : 7

Answer Key : A Your Response : Not Answered

Question No. 80
P, Q and R work together to finish a work. P and Q finish 70% of the work while Q and R finish 50% of the
work. Who will finish first, if they work alone?
A)Cannot be determined B)P
c)Q D)R

P, Q 3R R FeaR & FH A Q@ W §1 P 3K Q, 70% FH @ W § 5@ Q 3R R, 50% FH
T A ¥ AR F HFA-3FA FH A §, o TOA Tger P FH B R FM?

A)fereia €1 R ST aehar B)P
Cc)Q D)R
Answer Key : B Your Response : Not Answered

Question No. 81

Which of the following is a reproductive cell?
A)Lymphocytes B)Gamete
C)RBC D)WBC

T & ¥ Fia & v Yo ¥ &2

A)foFmrase B)g7H+
C)RBC D)WBC
Answer Key : B Your Response : B (Correct)

Question No. 82
Two numbers differ by 1365. On dividing the larger number by the smaller, the quotient and remainder got are
6 and 15 respectively. Find the larger number.
A)270 B)1095
C)1784 D)1635

ar &Y 1365 ¥ AT B &1 99 W& # B ¥ AT o W, ARE 3R Ah oA 6 AR 15
wIed 8T &1 99 T&Ar A fifew]

A)270 B)1095
C)1784 D)1635
Answer Key : D Your Response : Not Answered

Question No. 83

A cone is 32 cm high and the radius of its base is 8 cm. It is melted and recast into a sphere. Find the radius

of the sphere.
A)2.5cm B)4 cm
C)6.5 cm D)8 cm

uE OF A Sard 32 Joh A 3uF IR A Bsar 8 Jh ¥ ¥ RuaER wF e ¥ ager aer 1 3§ e
#r s AT o]

A)2.5 FEAT B)4 T _
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Answer Key : D Your Response : Not Answered

Question No. 84
Which of the following cities became the first to launch a 24x7 Ultra Low Emission Zone (ULEZ), inside which
vehicles will have to meet emission standards or face a charge?
A)Sydney B)Chennai
C)London D)Washington

ATl & & $ieT AT e 24 x 7 Hegr & AR e (ULEZ) dfear aRY Tl 9gelT AeX &1 917, o
3iET aTgat Y SCHST AR FN G FAT g AT R TMT 7T Yook HY TERA FT M7

A) s B)JeeTs
C)elg D)arfRieTeT
Answer Key : C Your Response : Not Answered

Question No. 85

A son's present age is two-fifths of his mother's age. After 8 years, he will be one half his mother's age. What

is his mother's age now?
A)40 B)50
C)42 D)36

TH AT B A A, IHA Al F A A 25 ¥ 8 af ae, IR A, IAH A A 3R Fr amedr el

Fefr At B T I R &7

A)40 B)50

C)42 D)36

Answer Key : A Your Response : Not Answered

Question No. 86

Which of these fractions cannot be reduced further?

14/21, 33/43, 18/24, 92/24, 41/82
A)33/43 B)41/82
C)92/24 D)18/24

ot 3 ¥ e B & 3R st e 8 fFar ST aar §?

14/21, 33/43, 18/24, 92/24, 41/82

A)33/43 B)41/82
C)92/24 D)18/24
Answer Key : A Your Response : B (Wrong)

Question No. 87
Acidic solutions in water conduct electricity because they produce-
A)Sulphide ions B)Chloride ions
C)Hydrogen ions D)Hydroxide ions

arelt &% AT el e v @ §, s 3w el €
SSC AQdazd (. B S — = Engineers AddaaA47
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C)gT83IalaT 31T

Answer Key : C

D)gTs3iadrss 3
Your Response : D (Wrong)

Question No. 88

Find the ODD one out from the given options.
A)40
C)79

R T Riet 3 ¥ IR B
A)40

C)79

Answer Key : C

B)80
D)20

B)80
D)20

Your Response : C (Correct)

Question No. 89
Two numbers have their LCM and HCF to be 693 and 11 respectively. If one number is 99, find the other

number.
A)79
C)34

B)12
D)77

& sEaRit & a.7.9(LCM) 3R AFIHCF) Faer: 693 AR 11 & IRk v wear 99 §, o q@d e

fforTl
A)79

C)34

Answer Key : D

B)12
D)77

Your Response : D (Correct)

Question No. 90
If in a certain code "YELLOW is written as XFKMNX', how is ' BORDER' coded?

A)AQPESD
C)ANSCFQ

B)APSEFS
D)APQEDS

IR v fAREa Fesmr ¥ YELLOW & 'XFKMNX' forar siar §, 3 fesmr &% 'BORDER' #t 3 forar

SRE?
A)AQPESD
C)ANSCFQ

Answer Key : D

B)APSEFS
D)APQEDS

Your Response : D (Correct)

Question No. 91

Bohr’s orbits are called stationary, because-
A)Protons remain in the nuclei and are stationary
C)Their orbits have fixed radii

agT 6t FEmsit Fr R w4t Fwer Ser 2
A)viele 1fde # Bd § 3R R g €
C)3ThT HeT3iT Hr Bear AfRad gdr &

Answer Key : D

B)Electrons in them are stationary

D)Electrons in them have fixed energy

B)&ifer 399 Hlgg setecial R I §
D)3+# Al saagil & ARad S @dr &

Your Response : A (Wrong)

Question No. 92

SSC Adda247
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Which number will best complete the relationship given below?

7:64:8:7
A)81 B)80
C)79 D)82

7 @ e A R T T A T A ¥ o F

7:64:8:7

A)81 B)80

C)79 D)82

Answer Key : A Your Response : C (Wrong)

Question No. 93
Which of these is used to break the circuit or to close the electric circuit?
A)Bulb B)Cell
C)Switch D)Wire

gt & FraeT ITRINT IR Fr Rl a1 Regd T #1 4 F@ F Qv fFr s §?

INECC B) &l
C)Raa D)ar
Answer Key : C Your Response : C (Correct)

Question No. 94
If (1 + tan A) (1 + tan B) = 2, then find A + B.
A)180° B)90°
C)0° D)45°

Iy (1 +tan A) (1 + tan B) = 2 &, @ A + B % AT 719 AT

A)180° B)90°
C)0° D)45°
Answer Key : D Your Response : D (Correct)

Question No. 95
If north east becomes west and south east becomes south and so on, what will be the west?
A)South east B)North east
C)North west D)South west

I} 3R 4, af¥e & siar & 3k af@or ¢, fRor & e 8, & af¥es T dem?

A)EfEioT & B)3ceR &
C)3ccR uiRa# D)gfaror gfegs
Answer Key : B Your Response : B (Correct)
SSC Adda247 Question No. 96 Engineers Addaa47
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At what rate per cent will a sum of money double itselfin 30 years?

A) B)
3% 1,
4
) D)
3 L % 3 1 %
3 2

STTET?
A) B)
3% 1,
S0
C) D)
1, 1
3=% 3=%
3 2
Answer Key : C Your Response : C (Correct)

Question No. 97

Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table for a meeting facing center. P is
second to the right of V who is third to the right of Q. S is second to the left of U who sits between V and P. R
is not a neighbour of Q or T.

Who is third to the right of V?

A)Q B)R
C)W D)T
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PR S # tue § 98 3R Y RBe 1w weer &1 3w &)

G AP, QR S T, U VIR W #fdw § B o gaar a9 & art 3R &g s & §
PVHFTE N AWM AT VAT TN Q & ¥ 3R I oy & W o §1 S, U F a1 30 & gy
T W AT E SV AR P & e dor 81 R, Q A1 T & arer 3 7éF o1 81

V ¥ aé 3R ¥ DR VAR | FT doT 82

A)Q B)R

C)W D)T

Answer Key : B Your Response : Not Answered

Question No. 98

Which acid is present in sour milk?

A)Citric Acid B)Acetic Acid

C)Glycolic Acid D)Lactic Acid

& gy # Fi W I Al dar 87

A)fRafes 3rFer B)uRdfes 3reel

C)IeTsalielsh 3Fe D)eifFea 3mar

Answer Key : D Your Response : D (Correct)

Question No. 99

Find the missing group of alphabets in the following series.

WO, CJ, HF, (...), RA
A)PD B)MC
C)AR D)FC

fArafaf@d Aol & 3R & IRy WF F 1d |

WO, CJ, HF, (.), RA

A)PD B)MC
C)AR D)FC
Answer Key : B Your Response : Not Answered

Question No. 100
P invests Rs.3500 in a business. After 5 months, Q joins him with some investment. If the profit that Q gets is
50% more than that of P, then find the investment of Q.
A)Rs.9000 B)Rs.5000
C)Rs.7000 D)Rs.6500
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P @& sqadr 7 %.3500 F¥ f¥a%r aRer &1 5 AW & 41, Q T AT F W 3HF AT v ¢ IR Q W
TR arer amT P % @87 & 50% 30 &, ar Q F fAdRr T A

A)%.9000 B)%.5000
C)%.7000 D)%.6500
Answer Key : A Your Response : Not Answered
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